/T
31
28
G.PA
Md. Asfag Ahbab Mayaz 12 5.00
Md. Foysol Ahmad 242 5.00
Md. Shahdath Hussain 127 4.67
Md. Mahfujur Rahman 28 4.58
Md. Ruman Ahmed 96 4.58
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1|75 4 |63 (35| 55| 3|45 |35(42| 3| 47 3558|5054 41| 15| 375 A | 6 PASSED IN ALL 50
2 |70 4 |8 | 5| 45| 2 |45 |35(32| 2| 47 |35|43(37|40| 3| 1| 15| 350 | A-| 6 PASSED IN ALL 75
3 (69|35 (74| 4| 48 | 2 | 43| 3 (35| 2| 48 (35|44 (37405 3| 1| 15317 | B | 6 PASSED IN ALL 109
4 |65(35| 72| 4| 53(3[o0o]o|o]Jof| o 0 0o]of|2 0 0.00 | F 3 3 SUBJECT FAILLED 163
5 64| 358 (| 5|50)|3|]o0o|loflofo] o 0 o]lof2 0 0.00 | F 3 3 SUBJECT FAILLED 163
6 |65| 3570 4| 50| 3| 0o|oflofo] o 0 0o]o|1 0 0.00 | F 3 3 SUBJECT FAILLED 163
7 |s6| 3 [80 | 5| 61 |35] 0| 0 |45(35] 51 (3567|4757 | 4| 1| 15| 000 | F 5 1 SUBJECT FAILLED 163
8 |64|35] 0| 0|38 | 1| 0] 0]45]|35| 48 |35/ 53 0o|lo|1]| 15| 000 ]| F 3 3 SUBJECT FAILLED 163
9|0 0 oo 0 olo|loflof|o] o 0 o|lofo 0 0.00 | F 0 ALL SUBJECTE FAILLED | 163
10| 74| 4 |57 3|52 3| 01| o0]48(|35] 0 0 | 56 0o]of|2 0 0.00 | F 4 2 SUBJECT FAILLED 163
1] 0 0 oo 0 olo|loflof|o] o 0 0o]o|1 0 0.00 | F 0 ALL SUBJECTE FAILLED | 163
12|81 | 5 | 8| 5|5 | 3|61|5 524 7105 |[59]|71]65]| 5] 2 3 500 | A+ | 6 PASSED IN ALL 1
13|71 4 | 65|35 57 | 3 |[51(35[42]|3]| 0 0 o]lof2 0 0.00 | F 5 1 SUBJECT FAILLED 163
14| 0 0 oo 0 olo|lofoflo] o 0 0o]o]|2 0 0.00 | F 0 ALL SUBJECTE FAILLED | 163
158 | 5 | 54| 3| 56| 3|48 (35|30 2| 33| 2 |41]44]|425( 3] 2 1 325 | B | 6 PASSED IN ALL 100
16 | 73| 4 |8 | 5| 60 [35[29| 1|36 2| 45 |35|47|49| 48 (35| 2| 15| 342 | B | 6 PASSED IN ALL 85
17|51 3 |60|35| 57| 3| o0o]o]o]|o| 4] 3 o|lo|l1 1 0.00 | F 3 3 SUBJECT FAILLED 163
18| 60| 35|83 | 5| 51| 3| 25| 1342 51 (35|41(32]|365| 2| 1] 15| 300 ]| B | 6 PASSED IN ALL 117
19|56 3 | 6835|503 o0o]o0o]o]o]| o 0 o|lo|1 0 0.00 | F 3 3 SUBJECT FAILLED 163
20|55 3 | 72| 4|47 2] 0]o0|o0o|0f| 19| 0 0o]o|1 0 0.00 | F 3 3 SUBJECT FAILLED 163
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2155 3 [67[35] 41 2] oflofloflo] oo olol2] o o000 F |3 3 SUBJECT FAILLED 163
2613576 4361130252138 ] 3 [a7|3s|ar|3|212] 12 [oo0o| F s 1 SUBJECT FAILLED 163
2356 3 [sa[3| a0 2130 ofo|l 38| 3 [ag|arfass|3|[1] 12 [oo0o]| F ] 4 2 SUBJECT FAILLED 163
24| 78| 4 |65 |35 57| 3|38 3[4]3| 35| 2|s6[4as5|s05[35]1] o [333] 8|6 PASSED IN ALL 92
2570 4 48] 2] ool oflofloflo] oo ololz1] o o000 F |2 4 SUBJECT FAILLED 163
26|72 4 |51 3583|625 4935 67| 5 [s5|61|ss|al2] 2 [a25] a6 PASSED IN ALL 15
27 78] 4 [ea|35|as |22 a4oflo] oo olo]2] o [ooo] F | a 2 SUBJECT FAILLED 163
28|72 4 |76 a | 623563 5 [41]3] 64| 5 |68|60[6a]|s5|21] 3 [as8] A6 PASSED IN ALL 4
2963358555 33| 4383423382833 2[2] 0o 358][A]G6s PASSED IN ALL 65
30[s9| 3|76 a4 2]o0oflolofo] oo olof[1] o [oo0o| F |3 3 SUBJECT FAILLED 163
3156 3 [so|[s5|as]2loflofloflo] ofo ololz21] o o000 F |3 3 SUBJECT FAILLED 163
3266|358 | 5|63 (35 0o[oflofo] oo o[ol2] o o000 F |3 3 SUBJECT FAILLED 163
336135805 |51 3383 [2r]o]5ss2]afar|a3]a|3[2] 1 [ooo]| F]s 1 SUBJECT FAILLED 163
3 |ss| 3 |80 | s |48 2]20]122]0] 47|35 19/ 0o 2] o [oo0o]| F |5 1 SUBJECT FAILLED 163
3568|3580 5| s8] 3] oflofloflo] oo o[lol2] o o000 F |3 3 SUBJECT FAILLED 163
36 | 69358 | 5| 62 [35]50[35[36] 2 56| 4 [a8|4a0ass|3s| 1] 2 [38 [ A |6 PASSED IN ALL 43
3759 3 |80 5| a5 | 2as[35][37]3| 58| 4 [as|aofa2s| 31| 2 [358] A6 PASSED IN ALL 65
38693575 4| 46| 2|s0[35[37]3 59| a4 ar|a7as]|3|2] 1 [350]A]6s PASSED IN ALL 75
3958 3 [8a| 5| a7 2a5[35]36] 2|52 4[s0|a8] 49352 15]350][A s PASSED IN ALL 75
a0 73] 4 [ 73| 4| s5 | 3|so|35][a3[3] 62| 5 [65[60]625[ 51| 3 [425] A6 PASSED IN ALL 15
a1l ol olofol ool o]olo|lo] oo olo]Jo] o looo] F|o ALL SUBJECTE FAILLED | 163
2262356835 s7[ 3] ofofoflo] oo o[ol1] o o000 F |3 3 SUBJECT FAILLED 163
43|71 4 [ 80 s | s1 | 3|58 a]3a]2]5s6]| a|e6s|[es|es|s|2] 3 [417] A6 PASSED IN ALL 20
44 |66 | 3570 a | s7 |35 a3s|2]5s7] a4 salsalsalalar] 2 [375]A |6 PASSED IN ALL 50
45 |65 3574 a | a8 | 236 2312552 a4 |5s6[ss]sss|af|1] 2 [325] B 6 PASSED IN ALL 100
a6 |72 a [2la]sol 3] o]ofloflo] oo olof[1] o [ o000 3 3 SUBJECT FAILLED 163




S > —_ N 8 -
= < 5 3 = ) & 2 TG | 22 Z g o
= 2 o s 2 = = =S| & Fo | < |G |2 o x
2| z 2 = z 2 = |5|8] ¢ | 33| s |82 el &
= (2] w o T oM o L »n [ < = &
o o) = N o = o <
o @ —

o o o o o o olo| o w

Cl o @l al @@ alClal@|al1219]19]a]8] 2

o o o o o o a|lo| =2

AR A AR A A K AR -

= = = = = = == = A
47 60| 35|74 4| 33| 1|36 223|037 3 ([39|37[38[3]|2|] 12 [000]| F |5 1 SUBJECT FAILLED 163
48 | 67| 35|70 4| a5 | 2|33 2251 45 [35[57]|39]48[35|1] 15292 c |6 PASSED IN ALL 127
49 | 60| 35|80 | 5| 47 | 2|53 4 |45(35] 53 | 4 |56 o|lo|l2] o |367]| A |6 PASSED IN ALL 59
5062358 555|332 2]302|54] 4] 46fla0|a3]|3]2] 1 [342]8B]6 PASSED IN ALL 85
51|58 3 [8 | 5| 58| 3[36] 2 [41[3] 556 ]| 4|48 24 o2 o [333]| B | 6 PASSED IN ALL 92
52l o] o|lo|o|l oflo]o[o]lof[of] ofo o|lof[1] o o000 F ] o ALL SUBJECTE FAILLED | 163
53|46| 2 [ 81| 5| 51| 3[40 3 [a1|[3] 57| 4 [37]30(335] 22| o [333]| B 6 PASSED IN ALL 92
54 |45 2 [64[35[ 33| 1|25 1]oflo|l21]o0o|of22[12]0f[1] o [o000] F | 4 2 SUBJECT FAILLED 163
55 51| 3 [44| 239 1[37]3[29[1] 56| 4 |50]53(515[35[1| 2 [258] c | 6 PASSED IN ALL 148
56 | 66| 35|77 4| 61 |35]|55| 4433 61] 5 |65|60|625/5 2] 3 [433] A 6 PASSED IN ALL 12
57|71 4 |74 4| 57| 3 [53] 4([31|2] 49 |35|61|55|58| 4115|375 A |6 PASSED IN ALL 50
58| 62| 35|[60(35] o o] of[o]loflof] oo o|lof[1] o |ooo| F |2 4 SUBJECT FAILLED 163
s9l ol o|lo|lo|] o|o|lo]of[ofo] oo o|lo|l1] o |o0o0o| F|o ALL SUBJECTE FAILLED | 163
60 | 8| 5 [67]35|/ 50 3] of[o]lofo] oo o|lof[1] o |oo0o| F |3 3 SUBJECT FAILLED 163
61| 74| 4 |80 | 5| 55| 3[40 3 [36|2] 52| 4 |56]|55(555[ 42| 2 [38 ]| A |6 PASSED IN ALL 43
62| 74| 4 |92 5| 60 [35]|55| 4 [31|2| 513564626351 15417 A 6 PASSED IN ALL 20
63| 49| 2 |77 4| 37| 12| 015|023 ] o | o ]|4a5|225/ 02 o [o000]| F | 3 3 SUBJECT FAILLED 163
64 | 61358 | 551|342 329|156 4 |52|47|s95|35]1] 2 [350] A 6 PASSED IN ALL 75
65| 62|35 |8 | 5| 63 |35] 47 [35[45(35] 52 | 4 |63 |54(585| 41| 2 [417] A | 6 PASSED IN ALL 20
66 | 66| 35|77 4|52 3] oflo]lofof] oo o|lo|l1] o |o0o0o| F |3 3 SUBJECT FAILLED 163
67 | 61|35 |8 | 5| 55| 3[50[35[40[3] 61| 5 |62]|52|57|4f[1| 3 [417] A6 PASSED IN ALL 20
68 53] 3 [72] 4|50 3] oflo]lofof] oo o|lo|[2] o |o0o0o| F |3 3 SUBJECT FAILLED 163
69 | 54| 3 [s0| 3| 45| 240 3[19|/0]30] 2[41]|30](355[2[1] o [000] F | 5 1 SUBJECT FAILLED 163
70| 6135|6735 33| 146 [35]18| 0| 59| 4 |4a7]20(335]/ 22| o |[o000]| F ]| 5 1 SUBJECT FAILLED 163
71| 70| 4 |60 35| 58 | 3 |62] 5 [4a5(35] 57| 4 |65]|55|60| 51| 2 [433] A | 6 PASSED IN ALL 12
72 51| 3 [64[35] 40| 236 235|253 4 |4a8|51|495|35[1] 2 [300] B | 6 PASSED IN ALL 117
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73|77 4 |88 | 5|56 | 3] 0]of[ofo] oo o|lo|[2] o |o0o0o| F |3 3 SUBJECT FAILLED 163
74 | 59| 3 [46] 2| 55| 3|42 3[33|2|54] 4 ]|57|50(535/4af2] 2 [317] B ] 6 PASSED IN ALL 109
7565|3577 4| 56| 3[33]2([32(2]44] 3 |58|e0|59| a1 1 [325] B 6 PASSED IN ALL 100
76 |62 35|70 a | 43| 2|25 126|139 3 |44|37|405]3 [ 2] 1 [258] c ] 6 PASSED IN ALL 148
77|66 |35 |77 4| 50| 3 [32] 2 [31|2]42] 3 |52]|54|53|4af[2| 2 [325] B | 6 PASSED IN ALL 100
78 | 55| 3 |66 [35) 35 | 1433 [|39[3|30] 2 |47|41|aa]|3][1] o |275] c] 6 PASSED IN ALL 140
79| 65|35 |8 | 5| 45| 2312|220 o | o|47]|43|4a5|35[1]| o [000]| F | 5 1 SUBJECT FAILLED 163
80|71 4 |54 3|52 3] ofo|loflof o ofao o|lof[1] o |oo0o| F |3 3 SUBJECT FAILLED 163
81|76 4 [ 71| 4| 60 |35 50 (35(34| 2] 64 | 5 [49]58(535[ 42| 2 [400] A | 6 PASSED IN ALL 34
82|68 35|66[35[ 53] 3 [|5s0[35([32]2]57| 4 |s0[s0[50][35]2]15]35]A]6 PASSED IN ALL 75
83 72| 4 [ 74| 4| 65 |35] 45 |35(39[ 3] 40| 3 [52|s52|52 42| 2 [38 ]| A |6 PASSED IN ALL 43
84|65|35|70| 4| 45| 23] 2|00 o | o[3a][39[365/2]1| o |[000]| F ] 5 1 SUBJECT FAILLED 163
85 67| 35|66 |35| 623556 4 [37[3] 60| 5 615256541 3 [408] A | 6 PASSED IN ALL 30
86 | 57| 3 [ 75| 4| 62 35|35 2 [32]2] 42| 3 |61|58[s95| 42| 2 [325] B] 6 PASSED IN ALL 100
87 55| 3 [ 77| 4| 52| 3| 10| 0 f19[0] 44| 3 |aa|a2|43| 31| 1 [000]| F | 4 2 SUBJECT FAILLED 163
88|52 3 [63[35[ 36| 1| 0] o0o|19]0of 551 35[26[31[285| 12| 0o |[o000] F | 4 2 SUBJECT FAILLED 163
89 (46| 2 [s8| 3|45 | 2] 0]o0ofofo] oo o|lo|[2] o |o0o0o| F | 3 3 SUBJECT FAILLED 163
0[s53] 3| o|lofl of[o]o[]o|lof[of] ofo o|lo|l1] o |oo0o| F |1 5 SUBJECT FAILLED 163
91| o[ o[oflo|l o|]o|lo|o]oflo] oo o|lo|l1] o |o0o0o| F|o ALL SUBJECTE FAILLED | 163
92 57| 3 49| 238 1|30]2|26]1] 36| 2[45]40fa25]3]1|] o |[20] c]| e PASSED IN ALL 162
93|76 4 [o5| 5| 50| 3 |5s50(35[32[2]54] 4 |60|5a|57|4af[2] 2 [392]A]6s PASSED IN ALL 39
94 | 72| 4 92| 5| 60 [35]50[35([33] 2| 54| 4 [59|s0[s45] 41| 2 [400] A 6 PASSED IN ALL 34
95 [ 71| 4 [ 82| 5| 60 |35|40| 3 [32[2] 34 ] 2 |51]53|52|4[1| 0o [358] A |6 PASSED IN ALL 65
96 | 71| 4 [ 80| 5| 55] 3|62 5 |51]35] 73| 5 576250542 2 [458] A6 PASSED IN ALL 4
97 | 67|35 84| 5| 513 |36 2][30[2] 22| o |54|55[s45[ 42| 2 [000] F | 5 1 SUBJECT FAILLED 163
98 | 67| 35|68 (35| 48| 2|26 1 |24] 0| 61| 5 |56][4a|50][35]1| 3 |[o0o00o]| F |5 1 SUBJECT FAILLED 163
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99 | 71 4 68 | 3.5 46 2 0 0 0 0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
100| O 0 0 0 0 0 0 0 0|0 0 0 0 0 1 0 0.00 F 0 ALL SUBJECTE FAILLED 163
101 | 80 5 83 5 56 3 45 (35134 | 2 63 5 51 57| 54 4 1 3 4.25 A 6 PASSED IN ALL 15
102 | 75 4 83 5 53 3 43 31281 62 5 59| 60 [59.5( 4 1 3 3.83 A- 6 PASSED IN ALL 43
103 | 74 4 60 | 3.5 45 2 41 3 132] 2 54 4 52 (42| 47 |35 1 2 3.33 B 6 PASSED IN ALL 92
104 | 41 2 78 4 38 1 32 21190 37 3 37 | 32 (34.5] 2 2 0 0.00 F 5 1 SUBJECT FAILLED 163
105| 62 | 3.5 | 44 p 60 |35 51 (35|41 3 62 5 60 | 52 | 56 4 1 3 3.75 A- 6 PASSED IN ALL 50
106 | 52 3 70| 4 56 3 30 2 12210 49 (35| 48 | 43 1455|135 2 1.5 0.00 F 5 1 SUBJECT FAILLED 163
107 60 | 3.5 | 70 4 48 2 0 01]21(0 47 | 3.5 49 0 0 2 0 0.00 F 4 2 SUBJECT FAILLED 163
108 | 70 4 90 5 67 | 35| 48 | 35|44 3 53 4 62 | 63 [62.5| 5 1 2 4.33 A 6 PASSED IN ALL 12
109| 65| 3.5 | 80 5 65 | 35| 50 | 35|42 3 0 0 54 | 60 | 57 4 1 0 3.75 A- 6 PASSED IN ALL 50
110| 57 3 60 | 3.5 58 3 13 0|15 O 0 0 29 (19| 24| O 1 0 0.00 F 3 3 SUBJECT FAILLED 163
111] 55 3 57 3 60 | 35| 51 35|41 3 53 4 55| 50 [52.5] 4 1 2 3.67 A- 6 PASSED IN ALL 59
112 | 71 4 61 | 3.5 59 3 19 0 19| 0 48 3515338 |455|35]| 1 1.5 0.00 F 4 2 SUBJECT FAILLED 163
1131 65| 35| 67 135] 61 |35| O 0]16( O 49 (35152148 50 |35] 1 1.5 0.00 F 4 2 SUBJECT FAILLED 163
114 62 | 3.5 | 85 5 49 2 0 0 0O|]o0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
115| 63 | 3.5 | 83 5 48 2 0 0 0 0 0 0 0 0 2 0 0.00 F 3 3 SUBJECT FAILLED 163
116 | 51 3 61 | 3.5| 46 2 0 0 0O|]o0 0 0 0 0 2 0 0.00 F 3 3 SUBJECT FAILLED 163
1171 67 | 3.5 | 66 | 3.5| 59 3 40 312310 48 [ 3555147 51 |35] 1 1.5 0.00 F 5 1 SUBJECT FAILLED 163
118| 63 | 3.5 | 62 | 35| 66 | 3.5 63 5131 2 56 4 5545 50 |3.5] 1 2 3.83 A- 6 PASSED IN ALL 43
119 | 59 3 74 4 50 3 14 011170 0 0 18 [ 33 (25.5] 1 1 0 0.00 F 4 2 SUBJECT FAILLED 163
120 59 3 0 0 40 2 20 0|28 1 22 0 43 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
121 | 54 3 72 4 56 3 0 0 0 0 0 0 0 0 2 0 0.00 F 3 3 SUBJECT FAILLED 163
1221 O 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0.00 F 0 ALL SUBJECTE FAILLED 163
123 | 48 2 0 0 0 0 21 01]21(0 30 2 39 | 40 [39.5] 3 2 1 0.00 F 2 4 SUBJECT FAILLED 163
124 | 50 3 68 | 3.5 46 2 35 212410 35 2 46 | 39 |42.5( 3 1 0 0.00 F 5 1 SUBJECT FAILLED 163
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125| 54 3 66 | 3.5 59 3 25 1123]0 0 0 38 | 46 | 42 3 1 0 0.00 F 5 1 SUBJECT FAILLED 163
126 | 71 4 82 5 61 | 35| 45 |35]40( 3 66 5 62 | 69 [65.5| 5 1 3 4.50 A 6 PASSED IN ALL 6
127 74 4 87 5 63 | 3.5 55 4 149 (3.5] 60 5 58 | 64 | 61 5 2 3 4.67 A 6 PASSED IN ALL 3
128 | 64 | 3.5 | 81 5 61 | 35| 47 | 3537 3 52 4 52 | 61 [56.5] 4 2 2 4.08 A 6 PASSED IN ALL 30
1291 69 | 3.5 | 80 5 63 | 3.5 35 2 28] 1 52 4 55| 56 [55.5] 4 2 2 3.50 A- 6 PASSED IN ALL 75
130| 68 | 3.5 | 87 5 60 | 3.5( 14 01]21(0 40 3 42 | 54| 48 (35| 1 1 0.00 F 4 2 SUBJECT FAILLED 163
1311 O 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0.00 F 0 ALL SUBJECTE FAILLED 163
132 | 44 2 64 | 3.5 41 2 0 0 0 0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
133 72 4 81 5 59 3 0 0 0 0 0 0 0 0 2 0 0.00 F 3 3 SUBJECT FAILLED 163
134 76 4 70 4 57 3 0 0 0 0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
135 74 4 80 5 52 3 14 0 ]126| 1 56 4 44 |1 43 1435 3 1 2 0.00 F 5 1 SUBJECT FAILLED 163
136 | 57 3 60 | 3.5| 46 2 40 3 118] 0 47 (3.5 49| 40 |445]| 3 2 1 0.00 F 5 1 SUBJECT FAILLED 163
1371 65| 35| 74 4 54 3 38 312110 48 [ 3.5 48 | 48| 48 |35 2 1.5 0.00 F 5 1 SUBJECT FAILLED 163
138 62 | 351 80| 5 60 | 35| 32 2 123] 0 42 3 46 | 41 |143.5( 3 1 1 0.00 F 5 1 SUBJECT FAILLED 163
1391 66 | 3.5 | 62 | 3.5| 50 3 28 1127] 1 27 1 41 |1 45| 43 3 1 0 2.50 C 6 PASSED IN ALL 152
140 60 | 3.5 |1 80| 5 58 3 34 2 132] 2 0 0 0 0 2 0 0.00 F 5 1 SUBJECT FAILLED 163
141 67 | 3.5 | 80 5 56 3 40 3 132] 2 30 2 46 | 55 150.5(35( 1 0 3.33 B 6 PASSED IN ALL 92
142 70 4 58 3 47 2 31 2 0 0 46 35144 | 54| 49 |35] 2 1.5 0.00 F 5 1 SUBJECT FAILLED 163
143 73 4 70 4 57 3 45 (3,51 45|3.5| 56 4 42 1 48| 45 (35| 1 2 3.92 A- 6 PASSED IN ALL 39
144 59 3 60 | 3.5 51 3 24 0230 47 | 3.5 50| O 0 2 0 0.00 F 4 2 SUBJECT FAILLED 163
145 74 4 80 5 62 | 3.5| 56 4 1381 3 68 5 55| 56 [55.5] 4 1 3 4.42 A 6 PASSED IN ALL 7
146 | 75 4 70 4 61 |35 60 5139 3 58 4 62 | 67 [64.5| 5 1 2 4.42 A 6 PASSED IN ALL 7
147 | 48 2 52 3 30 0 11 0 0 0 0 0 20| 35 (275 1 1 0 0.00 F 3 3 SUBJECT FAILLED 163
148 | 41 2 51 3 40 2 31 2 31| 2 45 3.5 46 0 0 1 1.5 0.00 F 5 1 SUBJECT FAILLED 163
1491 60 | 3.5 | 71 4 55 3 50 [ 3538 3 61 5 55|46 [50.5]135]| 1 3 3.92 A- 6 PASSED IN ALL 39
150( 70 4 62 | 35| 56 3 40 3 137] 3 55 4 53 | 53| 53 4 1 2 3.75 A- 6 PASSED IN ALL 50
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151 65| 35| 73 4 54 3 47 (35125 1 0 0 0 0 2 0 0.00 F 5 1 SUBJECT FAILLED 163
1521 62| 35| 71 4 53 3 55 4 1251 1 55 4 57 | 53| 55 4 2 2 3.58 A- 6 PASSED IN ALL 65
153 64 | 3.5 | 80 5 59 3 53 4 1230 48 [ 35142 | 54| 48 |35] 1 1.5 0.00 F 5 1 SUBJECT FAILLED 163
154 73 4 70 4 57 3 0 0 0 0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
155| 58 3 60 | 3.5 40 2 42 3 126]1 49 (3548|148 48 |35] 1 1.5 2.92 C 6 PASSED IN ALL 127
156 | 50 3 60 | 3.5 30 0 31 2 1291 39 3 40 | 47 1435 3 1 1 0.00 F 5 1 SUBJECT FAILLED 163
157 73 4 72 4 52 3 37 312310 43 3 45151 48 (35| 1 1 0.00 F 5 1 SUBJECT FAILLED 163
158 62 | 3.5 | 70 4 55 3 34 2 28] 1 43 3 46 | 60 | 53 4 1 1 3.08 B 6 PASSED IN ALL 112
159 | 52 3 40 p 48 2 26 1120] 0 51 | 35]|135]33]| 34 2 1 1.5 0.00 F 5 1 SUBJECT FAILLED 163
160 68 | 3.5 |1 80 | 5 58 3 37 3 135]2 57 4 53|50 (515(35] 2 1.5 3.67 A- 6 PASSED IN ALL 59
161 | 48 2 45 2 45 2 35 2 |30 2 40 3 451 31| 38 3 1 1 2.33 C 6 PASSED IN ALL 159
162| 67 | 3.5 | 70 4 50 3 48 (35133 2 59 4 51| 54 [52.5] 4 1 2 3.67 A- 6 PASSED IN ALL 59
163 | 56 3 70 4 48 2 39 31271 47 (35| 46 | 47 |46.5| 35| 2 1.5 3.00 B 6 PASSED IN ALL 117
164 | 59 3 60 | 3.5 54 3 44 3 (34| 2 51 | 35|45 |51 48 (35| 1 1.5 3.25 B 6 PASSED IN ALL 100
165| 68 | 3.5 | 42 2 50 3 58 4 1421 3 69 5 58 | 60 | 59 4 1 3 3.75 A- 6 PASSED IN ALL 50
166 | 64 | 3.5 | 50 3 54 3 50 135]29| 1 48 [ 3.5 55| 55| 55 4 1 1.5 3.25 B 6 PASSED IN ALL 100
167 66 | 3.5 | 65 |3.5| 53 3 53 4 131 2 51 | 35|54 |55|545| 4 1 1.5 3.58 A- 6 PASSED IN ALL 65
168 62 | 3.5 | 60 | 3.5| 55 3 52 4 128 1 53 4 56 | 55 [55.5| 4 1 2 3.50 A- 6 PASSED IN ALL 75
169 | 72 4 56 3 57 3 43 312110 47 [ 3.5 49| 55| 52 4 1 1.5 0.00 F 5 1 SUBJECT FAILLED 163
1701 60 | 3.5 | 76 4 49 2 42 312711 47 (3552|142 47 |35] 1 1.5 3.08 B 6 PASSED IN ALL 112
171 71 4 80 5 67 | 35| 48 |35]|45(3.5] 64 5 47 | 63 | 55 4 2 2 4.42 A 6 PASSED IN ALL 7
172 | 74 4 57 3 57 3 57 4 135( 2 54 4 53 | 54 [53.5] 4 1 2 3.67 A- 6 PASSED IN ALL 59
1731 65| 35| 62 | 3.5| 52 3 33 2 [25] 1 43 3 41 | 51 ] 46 (35| 1 1 2.92 C 6 PASSED IN ALL 127
174 | 58 3 73 | 4 40 2 0 0 (33| 2 0 0 0 0 2 0 0.00 F 4 2 SUBJECT FAILLED 163
1751 61 | 3.5 | 81 5 52 3 50 [ 3538 3 60 5 56 | 55 [55.5] 4 2 2 4.17 A 6 PASSED IN ALL 20
176 | 56 3 84 5 54 3 35 2 [ 38] 3 62 5 50 | 37 [43.5( 3 1 3 3.67 A- 6 PASSED IN ALL 59
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177163 [ 356235 55 [ 3 [ 38| 3 [33] 2] 49 [35]s54[4a7]s05[35] 1] 15333 8B 6 PASSED IN ALL 92
17854 3 ool ool ofloloflo]|] oo olof[1] o ooo| F |1 5 SUBJECT FAILLED 163
179 73| 4 |74 4| s6e | 3 [ao| 327 1| 52| 4 [a9|as]ass|3s| 1| 2 [342] 8B 6 PASSED IN ALL 85
180| 60 | 35 [ 64 |35 56 | 3 [ 4535|170 57| 4 49|49 a9 |35[1| 2 [oo00| F | 5 1 SUBJECT FAILLED 163
18147 2 |70l 4| ss|3]oflofloflo] oo olol2] o o000 F |3 3 SUBJECT FAILLED 163
18271 4 [ 76| 4 [ 58| 3 [s3| 430|259 4465651351 ] 2 [375| A6 PASSED IN ALL 50
183693580 | 5| 58| 3 [a7[35]39]3| 625 |59[60]s95] a2 2 [a17] A6 PASSED IN ALL 20
180673572 4 a8 | 2453500 o[ oa[a3]ars|3]2] 1 [oo0]| F | 4 2 SUBJECT FAILLED 163
18555 3 [ 74 a a8 232229135 2]42]4a9]ass|3s] 1] o [258] c ] 6 PASSED IN ALL 148
186 58| 3 [ 80| 5[ 59| 3 [45[35]31|2] 51 [35]48]51]495(35[ 1] 15[ 358 A | 6 PASSED IN ALL 65
18769 [ 35| 68|35 59 | 3 [ a5 [35]46[35| 56 | 4 [so|s7]s8| a1 2 [38 A6 PASSED IN ALL 43
188 67 356835 54 | 3 [ 32 2271 49 [35]52]47|a95(35] 1] 15[ 300 B | 6 PASSED IN ALL 117
18976 4 | 80| 5|60 3563|5413 56| 4 ]60s3]ses|a|1] 2 [242] a6 PASSED IN ALL 7
190 6235 73] 4 [ 61 |35 58| 441|360 5 [54]56|s5]|a]2] 2 [417] A6 PASSED IN ALL 20
19179 4 [|sa| 3| st |3 [32] 2138357 4 |s1|4a8faos|3s|1| 2 [342] 816 PASSED IN ALL 85
192 67356535 59 | 3 [ 43| 3 [373] 45 [35|4a8|42|4a5(35] 1] 15[ 350 A | 6 PASSED IN ALL 75
19371 4 [so| 53| 3[ar| 331|254 4]s1]s0olso5{35]1] 2 [375] A6 PASSED IN ALL 50
19458 3 [75] 439143319057 4 |a9|a7|as]|35|1] 2 [o00| F |5 1 SUBJECT FAILLED 163
195683571 4| o o433 |26[1]60] 5 olol2] o o000 F |5 1 SUBJECT FAILLED 163
196 54| 3 [e0 |35 47| 230 2322 46 [35|a6|4aa|a5 (35115292 c s PASSED IN ALL 127
19771 4 | 76| 4| 62 |355s3| 4 [a1]|3| 59| 4a]es|eale66|s5|1] 2 [a25] a6 PASSED IN ALL 15
198 6135633559 | 3 [56| 442|354 a]s9]|6s5]62|5]1] 2 [400] AT]s PASSED IN ALL 34
19956 3 [so| 5| 4223210l oo 29 o0flo]12] o [ooo] F | 2 2 SUBJECT FAILLED 163
200051 3 [80]| 5 |55 | 3413 [2a[0] 4735 5ol o [o|l1] 15000 F | 4 2 SUBJECT FAILLED 163
200 s8| 3 [76] 4| 64 [35]62] 5 [4a]3] 66| 5 7067695 21] 3 [442] A6 PASSED IN ALL 7
202673583 5 |61 [35]4a1| 3 [a1|[3] 56| 4 |s7[ag]s25]a21| 2 [400] A6 PASSED IN ALL 34
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203 | 70 4 68 | 3.5 66 [35] 30 2 [32] 2 46 | 3.5 59| 52 |555]| 4 1 1.5 3.42 B 6 PASSED IN ALL 85
2041 69| 35| 64 (3.5 52 3 14 0 13| 0 37 3 34 | 41 [37.5] 3 1 1 0.00 F 4 2 SUBJECT FAILLED 163
205 65| 35 | 75 4 61 |35 51 |35]127|1 67 5 60 | 60 | 60 5 1 3 3.92 A- 6 PASSED IN ALL 39
206| 65| 35 61135 63 [35] 36 2 [32] 2 57 4 63 | 56 [59.5]| 4 1 2 3.42 B 6 PASSED IN ALL 85
207 64| 35| 66 [ 3.5 55 3 28 1118] 0 41 3 0 0 0 1 1 0.00 F 4 2 SUBJECT FAILLED 163
208 | 73 4 70 4 52 3 50 135]30( 2 0 0 39 | 50 (44.5| 3 1 0 3.25 B 6 PASSED IN ALL 100
209 | 74 4 64 | 3.5| 57 3 45 (35133 | 2 44 3 50| 47 (485|135 1 1 3.42 B 6 PASSED IN ALL 85
2101 61| 35 | 70 4 53 3 37 3 (1281 53 4 38 | 25 (31.5| 2 1 2 3.08 B 6 PASSED IN ALL 112
2111 79 4 72 4 61 |35 51 (35|39 3 43 3 59 | 64 [61.5] 5 1 1 4.00 A 6 PASSED IN ALL 34
2121 68 | 3.5 | 93 5 48 2 47 (35131 2 45 3515443 1485|35]| 1 1.5 3.50 A- 6 PASSED IN ALL 75
213 | 50 3 70 4 47 2 46 (35119 O 29 1 33 (34 (335] 2 1 0 0.00 F 5 1 SUBJECT FAILLED 163
214 | 58 3 55 3 49 2 38 312210 29 1 42 | 34| 38 3 2 1 0.00 F 5 1 SUBJECT FAILLED 163
2151 61| 35 | 63 [ 3.5 48 2 15 0125 1 44 3 5545 50 |35] 1 1 0.00 F 5 1 SUBJECT FAILLED 163
216 | 36 1 42 2 43 2 0 0 0O|]o0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
217 | 41 2 35 1 51 3 0 0 0 0 0 0 31 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
218 | 73 4 80 5 57 3 53 4 146 |3.5] 59 4 51| 48 (495|135 1 2 4.17 A 6 PASSED IN ALL 20
219 | 59 3 56 3 56 3 60 512711 64 5 52 43 (475|135 1 3 3.58 A- 6 PASSED IN ALL 65
2201 651 3.5 | 61 |35 0 0 0 0 0O|]o0 0 0 0 0 1 0 0.00 F 2 4 SUBJECT FAILLED 163
221 55 3 50 3 0 0 0 0 0 0 0 0 0 0 1 0 0.00 F 2 4 SUBJECT FAILLED 163
2221 68| 35| 74 4 54 3 66 5 (43| 3 53 4 57 | 60 [58.5| 4 1 2 4.08 A 6 PASSED IN ALL 30
223 | 50 3 54 3 49 2 19 01]21(0 37 3 26 0 0 1 1 0.00 F 3 3 SUBJECT FAILLED 163
224 | 56 3 42 2 22 0 0 0 0 0 0 0 0 0 1 0 0.00 F 2 4 SUBJECT FAILLED 163
2251 63 | 35 | 53 3 52 3 31 2 |30 2 38 3 41139 | 40 3 1 1 2.92 C 6 PASSED IN ALL 127
226| O 0 0 0 0 0 0 0 0|0 0 0 0 0 1 0 0.00 F 0 ALL SUBJECTE FAILLED 163
2271 63| 35 | 41 2 46 2 48 (35128 1 47 (35| 44| 511475|35]| 1 1.5 2.83 C 6 PASSED IN ALL 136
228 | 56 3 63 | 3.5| 55 3 35 2 0|0 32 2 44 | 49 146.5|3.5] 2 1.5 0.00 F 5 1 SUBJECT FAILLED 163
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229 | 54 3 65 [ 3.5 49 2 41 3 0 0 33 2 24 0 0 2 0 0.00 F 5 1 SUBJECT FAILLED 163
2301 65| 3561135 61 [35] 61 5 (43| 3 57 4 68 | 63 [65.5| 5 1 2 4.25 A 6 PASSED IN ALL 15
231 66| 35| 66 [ 3.5 59 3 56 4 1391 3 40 3 48 | 42| 45 (35| 2 1.5 3.58 A- 6 PASSED IN ALL 65
2321 70 4 73 | 4 53 3 0 0 0|0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
2331 63| 35| 80 5 47 2 48 (35127 1 32 2 39 | 37| 38 3 2 1 3.00 B 6 PASSED IN ALL 117
2341611 35|71 4 59 3 50 135|230 28 1 38139 (385 3 1 0 0.00 F 5 1 SUBJECT FAILLED 163
235|1 67 | 35| 76 4 58 3 0 0 0 0 0 0 0 0 2 0 0.00 F 3 3 SUBJECT FAILLED 163
236 | 47 2 60 | 3.5 47 2 0 0 0|0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
237 | 35 1 0 0 24 0 0 0 0 0 0 0 0 0 1 0 0.00 F 1 5 SUBJECT FAILLED 163
238 53 3 64 | 3.5| 49 2 0 0 0|0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
239 | 57 3 74 4 58 3 55 4 1210 62 5 47 | 511 49 (35| 1 3 0.00 F 5 1 SUBJECT FAILLED 163
240| 67 | 3.5 | 77 4 61 | 3.5 65 5 (131 2 62 5 60 | 49 [54.5] 4 1 3 4.17 A 6 PASSED IN ALL 20
2411 69| 35 | 84 5 50 3 27 11291 38 3 47 1 33| 40 3 1 1 2.92 C 6 PASSED IN ALL 127
242 | 83 5 80 5 60 | 3.5( 70 5 45|35 72 5 64 | 57 [60.5| 5 1 3 5.00 | A+ 6 PASSED IN ALL 1
243 | 50 3 80 5 45 2 16 0 1]13(O0 36 2 26 | 51 (38.5] 3 1 0 0.00 F 4 2 SUBJECT FAILLED 163
244 | 51 3 54 3 49 2 25 1 26 1 47 35142 | 42| 42 3 1 1.5 2.42 C 6 PASSED IN ALL 154
245 | 57 3 72 4 50 3 0 0 0 0 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
246 61| 35| 61 (35| 44 2 26 1132 2 46 | 3.5 37 | 44 1405 3 1 1.5 2.75 C 6 PASSED IN ALL 140
247 | 74 4 74 4 53 3 55 4 1441 3 70 5 53 [ 55| 54 4 2 2 4.17 A 6 PASSED IN ALL 20
2481 69 | 3.5 62 |3.5| 59 3 28 1119] 0 52 4 45 |1 50 |47.5(35( 1 2 0.00 F 5 1 SUBJECT FAILLED 163
249 | 53 3 54 3 54 3 19 0129 1 0 0 46 | 61 |53.5( 4 1 0 0.00 F 5 1 SUBJECT FAILLED 163
2501 62 | 3.5 63 |3.5| 49 2 36 2 123] 0 0 0 59 | 52 [55.5( 4 2 2 0.00 F 4 2 SUBJECT FAILLED 163
2511 60| 35| 64 (35| 35 1 27 1 9 0 0 0 0 0 1 0 0.00 F 4 2 SUBJECT FAILLED 163
252 | 68 | 3.5 | 45 2 50 3 26 1122]0 31 2 45 |1 37 | 41 3 1 0 0.00 F 5 1 SUBJECT FAILLED 163
253 | 53 3 80 5 60 | 3.5( 56 4 1240 62 5 58 | 60 | 59 4 2 2 0.00 F 5 1 SUBJECT FAILLED 163
254 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0.00 F 0 ALL SUBJECTE FAILLED 163
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255( 54| 3 [a2] 2 s7[ 3] o of23]o] a7 [3s5]a1[ar]ar|3[2] 15000 F] 4 2 SUBJECT FAILLED 163
25654 3 [72] aaa| 2373 26[2] 423 |salsalsalalr| 1 [300] 816 PASSED IN ALL 117
257137 1 [6s5[35] o ol o[ ofofo] o o ololz1] o o000 F |2 4 SUBJECT FAILLED 163
258 54| 3 [ 6735 53| 3|45 (3527 1] 51 [35]35[4a6fa05] 31| 15]308] B 6 PASSED IN ALL 112
25952 3 [sol 3 [ sol 326 1]16]0] 16037313421 o [o000] F |5 1 SUBJECT FAILLED 163
260 49| 2 [60[35| 46 | 2|25 220l 0] 41| 3 [36[39[375] 31| 12 [o000]| F |5 1 SUBJECT FAILLED 163
261|s0| 3 [eo[35[ 37 1] ofofofo] oo o[lolz21] o o000 F |3 3 SUBJECT FAILLED 163
262693587 5|3 |34 3[30[2]6 |5 |s7[72]ea|[s]1|] 3 [408] a6 PASSED IN ALL 30
63|50 3 [70] 4 [ so[ 3] o o|lo]o] 4 | 3 |52]61]ses|af21] 1 [o00]| F | 4 2 SUBJECT FAILLED 163
26450 3 [60]35[ 331 ofofloflo] oo olof[1] o [oo0o| F |3 3 SUBJECT FAILLED 163
265/ 58| 3 [e0[35] a3 2] o ofofo] o o olol2] o o000 F |3 3 SUBJECT FAILLED 163
26644 2 [a0] 2] ool ofolw3[o] oo o[of1] o o000 F |2 4 SUBJECT FAILLED 163
267 ol ol olo] oflolo]olo]o] oo o lo]z1] o ooo] F o ALL SUBJECTE FAILLED | 163
268l 0] o lo]lo|l olo]ololo|lo] oo olo]1] o [ooo] F|o ALL SUBJECTE FAILLED | 163
269 623541 2 [ so [ 3322271130 24]s0o]4a7|35]2] o [250] c | 6 PASSED IN ALL 152
270( 56| 3 [3s| 1| a3 | 227 o180 a2 331293022 1 [o00]| F | 4 2 SUBJECT FAILLED 163
272071 4 [33] 2 [ axr 2] o] ofofo] oo ololz21] o o000 F |3 3 SUBJECT FAILLED 163
2221 0] ool ol olo]oflolo|lo] oo olo]1] o [ooo] F|o ALL SUBJECTE FAILLED | 163
273 71| 4 [70] 4 [ s3 | 3 [ 46 [35[30] 2] 51 [35]40[s0] 453521 15[ 358 A6 PASSED IN ALL 65
27471 4 |48 2 | 54 | 3|40 | 3 [3a]2] a9 [35]5s0[s57[s35[ a2 2 [325] B | 6 PASSED IN ALL 100
275 62 [ 35 [ 6135 55 [ 3 [ 33| 2 [27] 1] 37| 3 |s0o[ss]s25|a|2] 2 [300]| B[ 6 PASSED IN ALL 117
276 70| 4 [ 70| a | s6 [ 3|37 3 [31[2] 45 [35]s0[s8]sa| a1 15]358] A |6 PASSED IN ALL 65
277183 2 [70] 4 [ 3s [ 2 [ o[ o210 22| o 3525|300 2]2] o [o000| F | 4 2 SUBJECT FAILLED 163
278146 | 2 [aa| 23712 o o270 23 o o[ol1] o o000 F |3 3 SUBJECT FAILLED 163
279 75| 4 [sa| 3 [ s3 [ 330 2271 1] 43| 3 |57]s2]sas|af21] 1 [30 | B 6 PASSED IN ALL 117
20l 0] o [o]lo[ oflo]oflololo] oo olo]2] o looo] F|o ALL SUBJECTE FAILLED | 163
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281| O 0 0 0 0 0 0 0 OO 0 0 0 0| 2 0 0.00 F 0 ALL SUBJECTE FAILLED 163
282 | 48 2 80| 5 41 2 211 0 29| 1 45 [ 35 ] 41| 22 [31.5| 2 1 1.5 0.00 F 5 1 SUBJECT FAILLED 163
283 64 | 35| 46 | 2 51 3 27 1 (26]1 39 3 1423237 3 1 1 2.42 C 6 PASSED IN ALL 154
2841 70 4 60 [ 3.5| 49 2 0 0 0|0 0 0 0 0|1 0 0.00 F 3 3 SUBJECT FAILLED 163
285( 62 | 35 | 66 [ 3.5]| 49 2 12 | 0 (22| O | 47 | 35| 44| 29 |36.5( 2 1 1.5 0.00 F 4 2 SUBJECT FAILLED 163
286 | 57 3 71 4 46 2 | 38| 33| 2|50 |35|52|38|45 (35| 1| 15| 3.17 B 6 PASSED IN ALL 109
287 | 51 3 36 [ 1 39 1 0 0 OO 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
288| O 0 0 0 0 0 0 0 0|0 0 0 0 0| O 0 0.00 F 0 ALL SUBJECTE FAILLED 163
289 | 51 3 71 4 54 3141 3 133] 2 55 4 | 51 |53(52] 4 1 2 3.50 | A- 6 PASSED IN ALL 75
290 65| 35 (50 | 3 59 3140 31261 58 4 | 40 | 47 [43.5] 3 1 2 3.08 B 6 PASSED IN ALL 112
291 | 54 3 47 | 2 49 2 0 0 OO 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
292 | 56 3 40 | 2 35 1 18| 0 |19( O 10 0 |40 (28| 34| 2|1 0 0.00 F 4 2 SUBJECT FAILLED 163
293 | 56 3 67 | 3.5| 47 2 0 0 0O 0 0 0 0 1 0 0.00 F 3 3 SUBJECT FAILLED 163
294 60 | 35 | 62 (35| 47 2 | 25 1(26] 1] 63 5 14637 (415 3 [ 1 3 2.83 C 6 PASSED IN ALL 136
2951 76 4 72 | 4 49 2 36 2 1261 47 | 3.5] 48 | 41 [445| 3 1 1.5 2.92 C 6 PASSED IN ALL 127
29| O 0 0 0 0 0 0 0 0|0 0 0 0 0|1 0 0.00 F 0 ALL SUBJECTE FAILLED 163
29767 | 35 (72| 4 56 3 37 3117 0 54 4 | 43 | 46 (445 3 1 2 0.00 F 5 1 SUBJECT FAILLED 163
298| O 0 0 0 0 0 0 0 0|0 0 0 0 0|1 0 0.00 F 0 ALL SUBJECTE FAILLED 163
299 | 73 4 80| 5 53 3 25 1 (27]1 58 4 | 36 | 35 [355] 2 1 2 3.00 B 6 PASSED IN ALL 117
300 73 4 82| 5 47 2 25 1(26]1 43 3 | 45| 36 [40.5( 3 1 1 2.83 C 6 PASSED IN ALL 136
301 64| 35| 61 (35| 53 3 0 0]127(1 42 3 | 42| 47 (445] 3 2 1 0.00 F 5 1 SUBJECT FAILLED 163
302 62| 35 (44| 2 51 3136 2 (26| 1] 44 3 [30(38]34( 2] 2 0 2.42 c 6 PASSED IN ALL 154
303 | 53 3 81| 5 58 31 42 3 131) 2 33 2 [54|56)| 55| 4 1 0 3.33 B 6 PASSED IN ALL 92
304| 69| 35| 64 | 35| 58 3| 43 3 144 3 58 4 | 55|66 (605 5 1 2 3.83 A- 6 PASSED IN ALL 43
305| 59 3 56 [ 3 45 2 38 3 118| 0 23 0 | 30|45 (375 3 1 0 0.00 F 5 1 SUBJECT FAILLED 163
306| 61| 35| 57| 3 47 2 |37 3 [20] 0] 36 2 |35|45( 40| 3 (1 0 0.00 F 5 1 SUBJECT FAILLED 163
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307 o] o | o[ o o|o|lo|o]o]o]|] oo o|lo|l1] o |o0o0o| F|oO ALL SUBJECTE FAILLED | 163
308/ 59| 3 [s58| 3| 49| 2|47 |35[29| 1] 44| 3 [37]38](375[3|1] 1 [275]| c | s PASSED IN ALL 140
30959 3 [ 53 3|46 | 236 221|034 | 23846423 ]|2|] o [000]| F |5 1 SUBJECT FAILLED 163
310/ 63| 35| 8 | 5[ 39| 1|3 2(33|2] 50 ([35[38][31(345[ 2|1] 15|28 c| s PASSED IN ALL 136
31155 3 |72 4 | 38 | 1|31 2312 49 [35[33|26]295] 1|2 o | 258 | c | 6 PASSED IN ALL 148
312| 59| 3 [s8| 3| 47| 2|43 3 ([33|2] 49 [35([38][37(375[3|[2] 1 [292]| c |6 PASSED IN ALL 127
313 o o | o[ o o|o|lo|lo]o]o]|] oo o|lo|l1] o |o0o0o| F|oO ALL SUBJECTE FAILLED | 163
31|62 35[65(35[ 42| 2| o |lofo]o] oo o|lof[1] o |oo0o| F |3 3 SUBJECT FAILLED 163
315 57| 3 |60(35[ 39| 1|22l 0]o0o]o0o] oo o|lo|[1] o |o0o0| F |3 3 SUBJECT FAILLED 163
316/ 6535|6335 44| 2| o |loflo]|o] oo o|lof[1] o |oo0| F |3 3 SUBJECT FAILLED 163
31751 3 |72 4| 41| 2|34 2|34 2] 51 [35[41|22(315] 2|1[ 15275 c | 6 PASSED IN ALL 140
31854 3 [70| 4 [ 40| 2 |38 235|251 [35[39[31|35|2|1]15]275] c | e PASSED IN ALL 140
319 64 | 35 | 62 (35| 47 | 2 | 35| 2 |35] 2| 49 [35[42(36] 39| 3|1[15]292| c | 6 PASSED IN ALL 127
320/{55| 3 [s6| 3[4 2| o0o|loflo]o] ofo o|lo|l1] o |o0o0o| F |3 3 SUBJECT FAILLED 163
32157 3 [ 53| 3|45 | 2210 [31]2]| 40| 3 [42|38[40|3]|2|] 12 [000]| F |5 1 SUBJECT FAILLED 163
322l 65|35 70| 4 [ s5 3| o of31|2]52|4|4a]s1]a253|1] 2 [o000]| F |5 1 SUBJECT FAILLED 163
32363 35|66 (35| 45 | 2|20 0 |21]0]| 42| 3 [39|40(395] 3 |1| 1 |o000]| F | 4 2 SUBJECT FAILLED 163
32447 2 [ 82| 5[ 38| 1|26 126|135 | 2|41]a5|a3|[3|2] 1 [217]c |6 PASSED IN ALL 160
32543 2 |41 231 |0l o|o|lo|o|] o|o0o]oO o|lo|l1] o |o0o0o| F | 2 4 SUBJECT FAILLED 163
326/ 53| 3 [s54| 3| 54| 3 |46|35(32|2] 56| 4 [42]55(485[(35[1] 2 [333]| B | 6 PASSED IN ALL 92
327150 3 [ 6035 39| 1|36 2]22{0] 42| 3 [31|28[295[ 1]|12| 1 [o000]| F | 5 1 SUBJECT FAILLED 163
328 53| 3 [ 6235 49 | 2|33 225|147 [35|41|40fa05]3|2] 1 [267] c | 6 PASSED IN ALL 146
32955 3 |80 5|33l o|lo]of|o] ofo o|lo|l1] o |oo0o| F | 3 3 SUBJECT FAILLED 163
330/ ol o[ oo o|]olo|]oflo]o] ofo o|lof[1] o [o000| F | oO ALL SUBJECTE FAILLED | 163
33163 (35|55 3] o|o|lo|lo]o|o] oo o|lo|l1] o |o0o0o| F | 2 4 SUBJECT FAILLED 163
33254 3 [s7| 3 [ 371 |3a] 223|035 | 2333032212 o [o0o00]| F |5 1 SUBJECT FAILLED 163
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33355 3 |56 3381 o0|o0o]24a]0] o | o0 14 o[o]1] o [o000]| F | 3 3 SUBJECT FAILLED 163
334| 68| 35|64 |35 40| 2|33 2|24|0] 48 [35|45]49] 47 |35|1] 15000 F | 5 1 SUBJECT FAILLED 163
335(53| 3 [ 52 3|40 | 232 2]24]0]| 43| 3 [38|37[375(3|21| 12 [o000]| F | 5 1 SUBJECT FAILLED 163
33651 3 [46| 2 [ 39| 1|29 126|146 [35[37[43|4a0|[3|1] 15208 c | e PASSED IN ALL 161
337042 2 |45 2|36 | 1|29 1|23]0]| 51 |35[36|31[335[ 21| 15|00/ F /|5 1 SUBJECT FAILLED 163
33857 3 [4a5| 2 49| 2|31 2[28|1] 49 3536413853 |1] 15242 c | 6 PASSED IN ALL 154
33966 (35|72 4| 43| 2]l o0o|lo]o]|o] oo o|lo|[1] o |o0o0o| F |3 3 SUBJECT FAILLED 163
30l ol o[ oo o|o|lo|loflo]|]o] ofo o|lof[1] o |o000]| F ] o ALL SUBJECTE FAILLED | 163
34154 3 [ 6235 49 | 2| 25| 1 |24]0]| 53| 4 [47|37[42[3]|2|] 2 [o000]| F | 5 1 SUBJECT FAILLED 163
32|59 3 [e60|35[ 43| 2|19 0|24]0] o [ 0] oO o|lof[1] o |oo0| F |3 3 SUBJECT FAILLED 163
34353 3 [ 61(35[ 36 | 1|29 1]|22{0] 40| 3 [33|42[375(3|212| 12 [o000]| F | 5 1 SUBJECT FAILLED 163
34| 67| 35|60|35[ 41| 2|14 024|044 | 3 |[23]13]18|0|21] 12 [o000]| F |3 3 SUBJECT FAILLED 163
34564 | 35| 61(35| 56| 3|16l 016|031 | 2([37[29(33]2]|12] o |o000]| F | 4 2 SUBJECT FAILLED 163
36|67 35|72l 46| 3| o0o|loflo]o] ofo o|lo|l1] o |o0o0o| F |3 3 SUBJECT FAILLED 163
34758 3 |67 (35| 46 | 2 | 29| 1 |34] 2| 45 [35|46|47|465(35| 1| 15| 275 | c | 6 PASSED IN ALL 140
34855 3 [ 62|35 45| 2| 18| 0|29 1] 44| 3 |[35]40(375[3|2] 12 [o000]| F | 5 1 SUBJECT FAILLED 163
34951 3 |56 335|113l 0]o0o]o0o] oo o|lo|[2] o |o0o0o| F | 3 3 SUBJECT FAILLED 163
350 55| 3 [s52| 3 [44 | 2|25 126|151 [35[48[38|4a3|[3|1] 15242 cCc | s PASSED IN ALL 154
351 64| 35|60[35] 50| 3|26 1]|30] 2] 46 [35[46|44] 45|35 1| 15| 300]| B | 6 PASSED IN ALL 117
352 67| 35|58 3| 54| 3|25 128|151 [35[51][36][435[3|1] 15267 c | s PASSED IN ALL 146
353[54| 3 |57 33| 1] 0|o0o]18]0o] oo 23/ o|o0o|1] o |ooo| F | 3 3 SUBJECT FAILLED 163
354683570 4351 o0o]loflo]o] ofo o|lo|[1] o |o0o0o| F |3 3 SUBJECT FAILLED 163
35567 35| 0| 0|46 | 2] 0|o]o]o] oo o|lo|1] o |o0o0o| F | 2 4 SUBJECT FAILLED 163
356/ 6335|6435 42219l 0f0o]o0] oo o|lo|[1] o |o0o0| F |3 3 SUBJECT FAILLED 163
357147 2 |55 333|117l 0]o0o]o0o] o | of35|20{275 1|0 o |[o000| F | 0O ALL SUBJECTE FAILLED | 163
358 57| 3 [61]35[ 43| 2|20l 0f[0o|o0o] o[ o[32]38|35[2|0] o [o000]| F|o ALL SUBJECTE FAILLED | 163
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